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1. Write very short answer/Fill in the blanks :

. 1x7=7

53 e fral /A o s 1 ¢
(@) Give an example of free-floating

hydrophytes.
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(b) In an ecosystem, flow of energy is

always .
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(c) What is herbarium ? Answer any three of the following 5 ets
x3=
AR . were aAPTRS Rl fofibg es fral ¢
(d) Define Palynology. ., d ) )
@ RemT ke B (a) Dlzs;tr;be the adaptations of hydrophytic
(e) What is hierachy ? 2 @p‘ﬁ@ @ﬁ@ﬁ SSRIETFTE 3 1 |
el N (b)) What is Ecological Pyramid ? Describe
() The energy pyramid is always different types of Ecological Pyramid.
% FRING ww_ | S PrifTe 2 Rifw e T s
(g9 What do you mean by species ? forifies {a 3 < |
e i%ltﬁ f qene (c) Distinguish between Cladograms and
Answer the following : 2x4=8 Phenograms.
wee faREa Sew i ¢ @A S AR Sl FRi |
(@) What do you mean by water holding (d) Discuss the functions of Herbarium.
capacity ? WWWWWI
AR 41l el e R ety () Write a note on Natural system of
(b) Write a short note on Ecotone. classification.
o a6t vy GRe v dligfon AaeT TReeTy R @Bt Gl
(c) What is food chain ? Write the name of ferit |

types of food chain.
A XRET 2 A *R4eT eRmIETRE A1 e |

Write briefly the influence of climatic factors
on the growth and development of plant.

(d) Write about binomial system of o
nomenclature. Sfgns 3w o ferie eRIfTe $ werRgs
=1 sl oiwfoq Ry fora P A 5 |
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Or

Describe the Y shaped energy flow model in
an ecosystem.
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5. What is biogeochemical cycle ? Describe
either ‘carbon’ or ‘nitrogen’ cycle with
schematic diagram. 2+8=10
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Or

Describe the process of succession.
S Awes [AcE 3 341 |

6. What are the principles of Engler and
Prantl’s system of classification ? Write on
the merits and demerits of this system.

5+5=10
Engler 9% Prantl-d (Mo 5feq Tifemz
& 52 @2 simfon wd o% @iEemRs Jaw fori

Or

What do you mean by botanical garden ?
Write the importance of botanical garden.
Write the name of five major botanical
gardens in India. 2+6+2=10
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